& 139 AABC A £C =90° & W], sinA + cosA 9] 3+& 5}
of 2t

> €
17
> "E: o

B

SlnA:lgzi
A_%4 13
cosA = o=

CesAL Do 12T
~.sinA A
Sin COS 3 AL - =




A GO A cos A =

5\/3%1 o, tan A ©] ZH?

9
9 \
/6
AT~ —
_— 5\/——"
V6 V2
t A:—:_
an -~ -




3. sin30°cos30° - cos60°sin60° & Ff= -5l

> &

> He: o

sin 30 ° cos 30 ° — cos 60 ° sin 60 °

1. V3
_x_=0
2 2




@12«5 @ 11V3
@ 193 ® 183

® 10V3

AB
t = =
an 60 15 V3

AB =123

B
60°
AT ;.-—C
60°
- 12,_-—’ C




A

filo
Ho

e B S &
FABAL,

Yy

Ui
—m— 4
2 N\

V2 ]

2 9

Mo

@ 0°<A<45°Y
o, sin A < cos A

© A=45°Y o,
sin A = cos A 0
® 45°<A<90°¥
o, 1 <tan A
> E
> £
» G
ESI= Q)
> A O
> AL ©

@ sin45° = cos45°°]3, 0° < x < 45° 9| 4] cosx Q] I =7}
sinx o IZHT) Qo EASIER 0° < A < 45°Y o,
sin A < cos A ©]t}.

© sin45° = cos45° = —

6|’_‘

© 45° < A < 90°¥ W], tan45° < tanA O|E &2 1 < tanA
o|ch.




th& Azt o] EE B sinx = 0.6691 & uf, x 9] ZHe?

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004

@® 39° @ 40°

® 41°

(@)42" ® 45°

sin 42° = 0.6691




7. o= 2"AA x o 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@)8 +8v3 ® 9+8v2

B

— 1
BD = 16 cos 60° = 16 x 3 =38

o 3
DC:AD=16sin60°:16x‘/7_=8x/§
~x=BD+CD=8+8V3




8. & B3P HolE Fstofzt A D

\VARR 4
0
L

30 cm?

(H°]) = 5v2 x 6 x sin 45°

3
:5«/§x6x‘/7_:30(cm2)




=
sinAz%O]_Tl,B_7 2cm & o, AC -
AB 9 #h29
@® 2 @ 4 3)6 @ 8

B

sin A = B =

AC

| =~

:Ex%:lQ,A_C:w

watA AC - AB =15-9 =6 o]t

o]B& AC xsin A = BC o]t}

metratAs A2lof o5 AB = V152 — 122 = 9 o[t}




10. TF 193} o] WA B dol7h 18] AR

o tiste] /DAB = x, £/ADB =y, /DEC = z
gt o, o 5 S 82 A2
® siny =sinz ® tany = tanz

® tanx = CE @ cosz=sinx

@cosz =1

PR

-

B

EC
COSZ7 = —
AE
AAEC O AADB (v AA H)




11. o2 O3 2 ghAtHE ABCD
ol A JZHAAC 9] Aol=?

@ 3+5 @ 2V7
@)2vis @ 313
® 413

A A oA BC o W 5:419] wH& E 21 5hd
AE = 6xsin60° = 3 V3, BE = 6xc0s60° =3, CE=8-3=5
ojth. wetAl AAEC o metugtA 25 A8olH AC =

3\/32-1-52:\/5_2:2\/@0]1—/]_‘
(3V3)




12.

the 13} 2ol AB & A o® sl
20 99 3 C B AYE YA}
AE AB © dgATe wPL D 2

511, AB = Scm, /BAC = 30° & of,
ACBD 9] Hol& stofe},

= cm

»
> HEH 4v3cm?

B

(BCD = /BAC =30°

/ACB = 90° ©|22 /ABC = 60°

ACBD ©J| A

/BDC = /CBA - /BCD =60°-30°=30°

- 1
. BD = BC = 8sin 30 :8><§:4 (cm)
. (ACBD¥] HoJ)
:%x4x4><sin(180°—120°)
=443 (ch)




13. o5 187 22 aABC oA AB =6, ,
BC=100°]1, Yol7t 15V3 L o, /B |
27127 (& 90° < /B <180°) 6
0
@® 95° @ 100° (@)120°
@ 135° ® 150°

~&B \

H o] Zo]7} g, b 0|2 11 7131 2} x 7} EZto|H

o

_ 1
299 wol s = 5absin(180° - x)

x10Xx6xsin(180°—/B) = 15V3 , 30sin(180°—/B) = 15 V3

N | =

3
whabA sin(180° - /B) = \/T_ — sin60°, /B = 120° o]},




14. L I8 2L /C = 45°, /A =T75° U AABC A AB = x, AC =
6cm 2F & o, x ©] GL-S oo},




15.

ohg 197 o] AB — 4, AD

9, LA = 120° ¢l HPAIHTY
ABCD 9] Hol7tavb € W, a+b
o] & el (b= 240

Aaz)

cCh "
=

| 2
> =g 21

B

4% 9% (180° = 120°) = 4 x 9 X sin 60°
=36x‘/7§:18\/§

a+b=21°|t}.




